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B E B B = /2
o | 7 Al Al R #® Hfy EfkE RS B =
ERTT
w El T
+ B Al A—T m3  4,580.5 4, 600
HLIERLIE (5588 IEE-FAGER m3 | 4,184.6 4,200 L=49. 5SkmEL
7Ln-F LT
7' uvo-p &t REAL m3 | 8,997.7 9, 000
TREER AL (ER ER-EE8E) | m3 | 8,997.7 9,000 L=11kmLA
BERHELTT
BE B % + (RETE&RH) m3 351.1 350
LI =
173 b m3 54.8 50
#H R L m3 54.5 50
iR T
VRN 5 0] e
5" 3A7 b¥y b t=70cm m3 | 8,576.2 8, 580
B # I
FEREEQ
BT Ao )—EHAK m3 17,860 17,860
YIE L&
FEERI
B L BB m 191.4 190
EEEAET
BFEAI ELE m 191.4 190
MET
B @& &
T B # T RC-40 t=35cm m | 1,129.1 1,130
B {81 B% #% #f RC-40 m3 1.4 7
FEXREBEI BEZRHEA20F t=bem m  1,182.1 1,180
SERAET RC-40 t=10cm m 292.0 292
SEREI BAMAIEASI3 t=3cm m 276. 4 276
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SHERBET
TAI7WMEBEERR t=3cm i 142.2 140
TAITWMEEEERR t=5cm m 425. 4 430
R & I
R XK B T
B K T RYIFLVE  ¢300 m 84.8 85
fYIFLVE 600 m 8.5 9
Iy -pU=E7Ya-4 600x 600 m 0.0 0
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H B2 B B x 0/2)
BILE R
® =
At 1R 25
I & B Al Rl s -1 K & I JLO—F HMEMER 2 TEMER 2 PELER 2 JLo—F IXERER 0 F &
T T
1 Al I m3 4,580.5 4,518.2 0.0 - 62.3 0.0 -
T EELT-7  Vhy b " 174.5 112.2 0.0 - 62.3 0.0 -
KIFEFERY t=30cm m3 4,406.0 4,406.0 - - o - -
7% & i wi Oy E eAEiER 09 m3 4,184.6 (JEHI+PRYE) — (BEBFREL+HEREL)
TSRV bk t=70cm m3 8,576.2 8,576.2 - - T - -
V=N m3 8, 997.7 8,864.4 133.3 - 0.0 -
Bk B+ I oEm m3 351. 1 111.3 8.7 - 201 | 0.0 -
ol # B ZEEE 09 0 0m 390.1
BRELTT m3 1,240. 1 326. 4 0.0 - 913.7 0.0 -
B ¥ x I
R ¥ ik m3 54.8 20.0 3.4 - 31.4 - -
# R L " 54.5 20.0 0.0 - 34.5 - -
# Wl B W EEE 0.9 " 60. 6 22.2 0.0 - 38.3 - -
= B B B T
I - m2 0.0 - - - 0.0 - -
5 Wt oo 0.0 - - - 0.0 - -
B o+ m2 191. 4 - - - 191.4 - -
% W " 191. 4 - - - 191.4 - -
= m T
i} 4 T m2 191. 4 0.0 0.0 0.0 191.4 0.0 0.0
BramT i Al & " 0.0 - - - 0.0 - -
BFEHAI & T & " 191.4 - - - 191.4 - -
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JLro— Kt 133.3
B oA © m3 0.0
B &K @ m 0.0
B oK Q@ m3 133.3
7 N R i
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BEKBELTI
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B % £ T
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#H OR L m3 0.0
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r T s F E
B1BREILO—F P7 JLo—k
1-7° Vig#l REIFEmY TSRy b
bl J= BB W E R T E TR K& W E FHRTEE 1Ri& BT EiE FHRTE A K& BT E A FHRTEE Ri& W=
NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3
123 + 0. 000 20.0 0.1 0.05 1.0 17.0 8.50 170.0 31.0 15.50 310.0 - ——— -
124 + 0. 000 20.0 0.4 0.25 5.0 16.0 16. 50 330.0 31.4 31.20 624.0 - - ———
125 + 0. 000 20.0 0.0 0.20 4.0 13.9 14.95 299.0 28.7 30. 05 601.0 - ——— -
126 + 0. 000 20.0 0.1 0.05 1.0 6.3 10.10 202.0 15.6 22.15 443.0 - ——— -
127 + 0. 000 20.0 0.1 0.10 2.0 12.0 9.15 183.0 23.2 19. 40 388.0 - ——— -
128 + 0. 000 20.0 0.2 0.15 3.0 15.0 13.50 270.0 30.6 26.90 538.0 - ——— -
129 + 0. 000 20.0 0.2 0.20 4.0 16.1 15.55 311.0 29.9 30.25 605.0 - ——— -
130 + 0. 000 20.0 0.2 0.20 4.0 16.9 16.50 330.0 31.2 30.55 611.0 - ——— -
131 + 0. 000 20.0 0.0 0.10 2.0 15.3 16.10 322.0 21.5 29.35 587.0 - ——— -
132 + 0. 000 20.0 0.2 0.10 2.0 4.9 10.10 202.0 11.1 19.30 386.0 - ——— -
133 + 0. 000 20.0 0.2 0.20 4.0 13.9 9.40 188.0 24.9 18.00 360.0 - ——— -
134 + 0. 000 20.0 0.2 0.20 4.0 13.9 13.90 278.0 24.3 24. 60 492.0 - ——— -
135 + 0. 000 20.0 0.0 0.10 2.0 12.2 13.05 261.0 24.1 24.20 484.0 - ——— -
136 + 0. 000 20.0 0.2 0.10 2.0 11.1 11.65 233.0 23.6 23.85 477.0 - ——— -
136 +  11.996 12.0 0.2 0.20 2.4 10.7 0.0 23.2 0.0 - ——— -
137 + 0. 000 8.0 0.2 0.20 1.6 11.3 11.00 88.0 23.1 23.15 185.2 - ——— -
138 + 0. 000 20.0 0.4 0.30 6.0 11.5 11.40 228.0 23.7 23.40 468.0 - ——— -
139 + 0. 000 20.0 0.4 0.40 8.0 14.6 13.05 261.0 28.7 26.20 524.0 - ——— -
140 + 0. 000 20.0 0.1 0.25 5.0 10.4 12.50 250.0 20.6 24. 65 493.0 - ——— -
141 + 0. 000 20.0 0.3 0.20 4.0 0.0 0.0 JE— R R
141 + 9. 996 10. 0 0.3 0.30 3.0 0.00 0.0 0.00 0.0 - ——— -
142 + 0. 000 10.0 0.3 0.30 3.0 0.00 0.0 0.00 0.0 - ——— -
143 + 0. 000 20.0 0.3 0.30 6.0 0.00 0.0 0.00 0.0 ——— ——— ———
I Bt 79.0 4, 406.0 8,576.2 0.0
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NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3

143 + 0. 000 0.0 0.3 —

144 + 0. 000 20.0 0.4 0.35 7.0 0.00 0.0 0.00 0.0 - ——— -

145 + 0. 000 20.0 0.4 0.40 8.0 0.00 0.0 0.00 0.0 - ——— -

146 + 0. 000 20.0 0.4 0.40 8.0 0.00 0.0 0.00 0.0 - ——— -

146 +  14.160 14. 2 0.2 0.30 4.3 0.00 0.0 0.00 0.0 - ——— -

147 + 0. 000 5.8 0.1 0.15 0.9 0.00 0.0 0.00 0.0 - ——— -

148 + 0. 000 20.0 0.2 0.15 3.0 0.00 0.0 0.00 0.0 - ——— -

149 + 0. 000 20.0 0.0 0.10 2.0 0.00 0.0 0.00 0.0 - ——— -

149 + 6. 600 6.6 - - - - - - - - - - - -

I B 33.2 0.0 0.0 0.0

& 5 112.2 4, 406.0 8,576.2 0. 0"
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HIBREILO—F Lo
BEmERE + R HRL
Al J= BB W E R M E IR K& W E T E R K& W E T E IR K& W E R FHRTE A Ri& W=
NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3
123 + 0. 000 20.0 0.2 0.10 2.0 0.0 0.00 0.0 0.0 .00 0.0 - - -
124 + 0. 000 20.0 0.2 0.20 4.0 0.3 0.15 3.0 0.2 0.10 2.0 - - -
125 + 0. 000 20.0 0.2 0.20 4.0 0.1 0.20 4.0 0.0 0.10 2.0 - - -
126 + 0. 000 20.0 0.4 0.30 6.0 0.1 0.10 2.0 - - - - - -
127 + 0. 000 20.0 0.4 0.40 8.0 0.1 0.10 2.0 - - - - - -
128 + 0. 000 20.0 0.4 0.40 8.0 0.0 0.05 1.0 - - - - - -
129 + 0. 000 20.0 0.4 0.40 8.0 - - - - - - - - -
130 + 0. 000 20.0 0.4 0.40 8.0 0.0 0.00 0.0 0.0 0.00 0.0 - - -
131 + 0. 000 20.0 0.4 0.40 8.0 0.4 0.20 4.0 0.3 0.15 3.0 - - -
132 + 0. 000 20.0 0.2 0.30 6.0 0.0 0.20 4.0 0.0 0.15 3.0 - - -
133 + 0. 000 20.0 0.4 0.30 6.0 - - - - - - - - -
134 + 0. 000 20.0 0.4 0.40 8.0 - - - - - - - - -
135 + 0. 000 20.0 0.4 0.40 8.0 - - - - - - - - -
136 + 0. 000 20.0 0.4 0.40 8.0 - - - - - - - - -
136 +  11.996 12.0 0.4 0.40 4.8 - - - - - - - - -
137 + 0. 000 8.0 0.4 0.40 3.2 - - - - - - - - -
138 + 0. 000 20.0 0.0 0.20 4.0 - - - - - - - - -
139 + 0. 000 20.0 0.0 0.00 0.0 - - - - - - - - -
140 + 0. 000 20.0 0.1 0.05 1.0 - - - - - - - - -
141 + 0. 000 20.0 0.1 0.10 2.0 - - - - - - - - -
141 + 9. 996 10. 0 0.1 0.10 1.0 - - - - - - - - -
142 + 0. 000 10. 0 0.1 0.10 1.0 - - - - - - - - -
143 + 0. 000 20.0 0.0 0.05 1.0 ——— ——— ——— ——— ——— ——— ——— ——— ———
h Bt 110.0 20.0 10.0 0.0
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143 +  0.000 — — — —

144 + 0.000

145 +  0.000 — — — — — — — — — — — —

146 + 0.000

— N NN
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+ I = = =
HIBEILO—F Lo
BHETO BARELQ BARELQ EREREE L
Al J= BB W E R T E TR K& W E T E iR K& W E R T RTE A K& BT E A FHRTE A Ri& W=
NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3
123 + 0. 000 6.6 - - - - - - 0.0 0.00 0.0 - - -
124 + 0. 000 20.0 - - - - - - 0.0 0.00 0.0 - - -
124 +  10.800 10. 8 - - - - - - 0.0 0.00 0.0 0.0 0.00 0.0
125 + 0. 000 9.2 - - - 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
125 + 2. 500 2.5 - - - 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
126 + 0. 000 17.5 - - - 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
127 + 0. 000 20.0 - - - 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
127 + 8. 000 8.0 - - - 3.6 1.80 14.4 46.0 23.00 184.0 5.4 2.70 21.6
127 +  18.800 10.8 - - - 8.5 6.05 65.3 108.0 71.00 831.6 12.8 9.10 98.3
128 + 0. 000 1.2 - - - 9.1 8.80 10. 6 115.3 111. 65 134.0 13.7 - -
129 + 0. 000 20.0 - - - 9.1 9.10 182.0 104.2 109. 75 2,195.0 13.7 - -
130 + 0. 000 20.0 - - - 12.3 10.70 214.0 101.9 103. 05 2,061.0 17.2 - -
130 +  15.300 15.3 - - - 10.0 11.15 170. 6 84.0 92.95 1,422.1 14.4 - -
131 + 0. 000 4.7 - - - 10.0 10. 00 47.0 84.0 84.00 394.8 14.4 14. 40 67.7
131 + 4. 000 4.0 ——— ——— ——— 8.0 9.00 36. 0 67.0 75. 50 302.0 11.0 12.70 50. 8
h B 0.0 739.9 1,524.5 238.4
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+ T ' F =
HIBREILO—F Lo
BiARLD BIAELQ BIAELQ BREREE L
bl J= BB W E R T E TR K& W E U E TR K& W E R T E IR K& W E R FHRTE A Ri& W=
NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3

131 + 4. 000 0.0 e 8.0 67.0 11.0

132 + 0. 000 16.0 —-——— -——— -——— 0.0 4.00 64.0 0.0 33.50 536.0 0.0 5.50 88.0
132 + 8. 000 8.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
132 +  15.900 1.9 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
133 + 0. 000 4.1 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
134 + 0. 000 20.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
135 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
136 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.0 -——— -——— -———
136 +  11.996 12.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
136 +  12.500 0.5 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
136 +  19.000 6.5 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
137 + 0. 000 1.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
138 + 0. 000 20.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
138 + 2. 000 2.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
138 + 8. 800 6.8 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
139 + 0. 000 11.2 —-——— -——— -——— 0.00 0.0 0.00 0.0 -——— -——— -———
139 + 9. 500 9.5 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
139 +  17.000 1.5 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
140 + 0. 000 3.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
141 + 0. 000 20.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
141 + 9. 996 10.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
141 +  13.000 3.0 —-——=— —-——=— —-——— 0.00 0.0 0.00 0.0 0.00 0.0
142 + 0. 000 1.0 —-——— -——— -——— 0.00 0.0 0.00 0.0 0.00 0.0
142 + 1.800 1.8 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
143 + 0. 000 18.2 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
144 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
145 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
146 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
146 +  14.160 14.2 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
147 + 0. 000 5.8 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
148 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— 0.00 0.0 -——— -——— -———
149 + 0. 000 20.0 -——— -——— -——— -——— -——— -——— -——— -——— -——— -——— -——— -———
149 + 6. 600 6.6 -——— -——— -——— -——— -——— -——— -——— -——— -——— -——— -——— -———
I B 0.0 64.0 536.0 88.0
& B 0. 0|| 803.9 8, 060. 5 326.4
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BIBBILO—F (BeAEnE JLo—k
BAETO BARELTQ BARELQ EREREE L
Al J= BB W E T E IR K& R< TR 2N BT E A FHRTEE K& BT E A FHMTE A Ri& W=
NO m m2 m2 m3 m m m2 m2 m2 m3 m2 m2 m3
124 +  10.000 10. 0 - - - —— - - 1.3 .65 6.5 - - -
125 + 0. 000 10.0 - - - —— - - 1.9 1.60 16. 0 - - -
125 + 2.500 2.5 - - - —— - - 0.0 95 2.4 - - -
126 + 0.000 17.5 - - - —— - - - —— - - - -
126 + 5.000 5.0 - - - —— - - - - - - - -
127 + 0. 000 15.0 - - - —— - - - - - - - -
127 + 8.000 8.0 - - - —— - - 0.0 0.00 0.0 - - -
127 +  19.800 11. 8 - - - —— - - 3.9 1.95 23.0 - - -
128 + 0. 000 0.2 - - - —— - - 3.9 3.90 0.8 - - -
129 + 0. 000 0.0 ——— ——— ——— —— ——— ——— 2.0 2.95 0.0 ——— ——— ———
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+ I = = =
FIBBILO—F (B AEnE JLo—k
BEMERE + FRYE HERL BWE
Al J= BB W E T E IR K& W E R T E TR *i& W E R FHRTEE K& BT E A FHMTE A Ri& W=
NO m m2 m2 m3 m2 m2 m3 m2 m2 m3 m2 m2 m3
124 +  10.000 10. 0 0.4 0.20 2.0 0.2 0.10 1.0 - - - - - -
125 + 0. 000 10.0 0.2 0.30 3.0 0.2 0.20 2.0 - - - - - -
125 + 2.500 2.5 0.2 0.20 0.5 0.1 0.15 0.4 - - - - - -
126 + 0. 000 17.5 - —— - - - - - - - - - -
126 + 5.000 5.0 - - - - - - - - - - - -
127 + 0. 000 15.0 - - - - - - - - - - - -
127 + 8.000 8.0 - - - - - - - - - - - -
127 +  19.800 11. 8 0.2 0.10 1.2 - - - - - - - - -
128 + 0. 000 0.2 0.2 0.20 0.0 - - - - - - - - -
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1.88
1.88
1.88
1.88
1.88

RS
m

0.00
1.88
1.88
1.88
1.88
1.88
1.88
1.88
1.88
1.88
1.88
1.88

292.0

[p
m2

17.8
26.0

9.6
35. 6

35. 6

35. 6

35. 6

1.7
21.9

35. 6

9.4

£, |
TR
m

0.89
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78

RS
m

0.00
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78
1.78

276.4

B

i

0.0
20.0

14.6

5.4
20.0

20.0

20.0

20.0

4.3

15.7

20.0

5.3

% (HEE)

A
NO

0. 000,
0. 000,
14.616

0+
1+
1+

0. 000,
0. 000,
0. 000,
0. 000,

3+
4+
5+
6 +

0. 000,
5. 263

8 +
8 +

.I.
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YIVEILERE T B AR B A iR 5 44

TIEREE
PRMEIEREEA (L)

@T B s is R AR AR A (L)
mi& A=0.357X0.350/2= 0.062 m2

K NO.1+0.0~NO.7+0.0 120 m

V=0.062 X 120.0= 7.4 m

&
belo
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ERERBEIRESRE

T # & A # A 2 % R & B &% & iis
EHERMET |
SHEREET
7RI 7L SR
t=3cm m?2 142.2 140m
t=bcm m?2 425. 4 430m
AsH S S E m3 25.6 26m
t=3cm m3 4.3
t=bcm m3 21.3
REMREE t 0. 6 V2. 35/100
SRR DT T m 22.0 22
t=3cm m 5.4
t=bcm m 16. 6
Bk EmEE
15& - hL— FEE AHSWEBLT m3 10.2 10m
EntEEY m3 10.2
USHEI%  UF-B300-H300 " 17
US1-B600-H600 " 8.5
REREE t 0. 2 V2. 35/100
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BEYERERLT

%&

E X

i

B

FAZ7)L SESERREREE L

#2 = NO.

£ B3 NO.

ot it

t=3cm

SR U] T

125 + 0.80

~ 126 + 16.90

142. 20

2.4+3.0=

5.4

+

~ +

!
+++++ A A A A+

r-rr-rrr - - - - - - -\ - -\ e

(m2)

(m)

B+ +++++++ A+t

142.2

5.4
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BEYERERLT

%&

E X

FAZ7)L SESERREREE L

ot it

t=bcm

SR U] T

~ 121+ 3.10

425. 40

8.5+8. 1=

16.6

l
+

© 00 N O O A~ W N =

10

11

12

13

14

15

16

17

18

19

20

21

22

23

2]

28

29

30

31

32

33

34

35

!
+++++ A A A A+

(m2)

(m)

D+ +++++++++++++ A F A+

425.4

0.0

16.6
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EYEET 3 H E X
BKBEEYRET
iz 1 Bl - AILA—FEE Q2O )—b5R)
2 = NO. ¥ 5 NO UF-B300-H300 | US1-B600-H600 | US1-B1200-H1400
1
2
3
4
5137 + 9.60 ~ 137 + 10.60
6 + ~ +
7131 + 10.70 ~ 132 + 0.60 60. 00
8 + ~ +
91124 + 17.80 ~ 126 + 13.00 99. 60
10 + ~ +
1 + ~ +
12 + ~ +
13 + ~ +
14 + ~ +
15 + ~ +
16 + ~ +
17 + ~ +
18 + ~ +
19 + ~ +
20 + ~ +
21 + ~ +
22 + ~ +
23 + ~ +
28 + ~ +
29 + ~ +
30 + ~ +
31 + ~ +
32 + ~ +
= Hi m 99. 60 60. 00
10mEf-Yaro)—rEARY 2—L|m3 0.28 1. 41 5.48
a9 Y— kAR 2 —L m3 1.7 8.5 0.0
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BBV IRAEHRER (SE)

#= EXED JREISE avH1)—k a2 9)—kEx
B B =i \ Ek F&-EFT | 10m, 10EfTHY BMABES (AR nongE ES

B 2mRUEFR kg m m3 t/m3 m3 t
LERIE 350 2 10.0 75 0.6 0.50 2.50 0.50 1.3
500 2 10.0 672 2 1.34 2.50 1.34 3.4
R F7Ya—L BF300 2 10.0 133 2 0.27 2.50 0.27 0.7
BF450 2 10.0 246 2 0.49 2.50 0.49 1.2
ZEAEE B250-H250EH 2 10.0 485 2 0.97 2.50 0.97 24
B300-H300Z A& 2 10.0 599 2 1.20 2.50 1.20 3.0
B450-H450% & 2 10.0 894 2 1.79 2.50 1.79 45
EEA VS300-600 2 10.0 644 2 1.29 2.50 1.29 3.2
EEEEE B350-H350 2 10.0 333 2 0.67 2.50 0.67 1.7
B600-H600 2 10.0 703 2 1.41 2.50 1.41 35
B1200-H1400 2 10.0 2740 2 5.48 2.50 5.48 13.7

UEZ)a—LA
B300-H300 2 10.0 140 2 0.28 2.50 0.28 0.7
& D200 2 10.0 94 2 0.19 2.50 0.19 05
D300 2 10.0 151 2 0.30 2.50 0.30 0.8
D500 2 10.0 430 2 0.86 2.50 0.86 22
BrE B350-H300 2 10.0 777 2 1.55 2.50 1.55 3.9
B2500-H1500 2 10.0 7790 15 20.77 2.50 20.77 51.9
B8R ci@ 1 10.0 295 2 0.63 2.35 0.63 15
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#x-9.2 MK RT (hBRNE) HERIER

W BIA 1m3Y) o B i E ®n B IE HE@EE
N 5 X . y N - o - = =
JaysRS | EANo. PR | rmmm | JE |emmim| BEEY | senm | omme 22| mats
quck (ke) L{al REI L{al REl L{al REI
716-419mi  673—394ni
123 ~ 125 40 m|[No.119 —fEEE L 6.17 m| #koiE | 150 kN/m2 10.0m 10.0m 5.0m 5.0m 6.0m
THEOHE 100kg 297 m2 279 m2 3,456 m3
+16.7| 16.70 m|No.125 —fEEE L 782 m| mxmmE, | 150 kN/m2 10.0m 10.0m 5.0m 5.0m 6.0m
lff” ~ l??a 15.1 m|No.126+4.236 | HE2EEE 6.71 m| 111 kN/m2| 150 kN/m2 BRELR 406 m2|  6.0m 2,436 m3
100kg
THIRERED 229 m2| 7.2~75m 1,342 m3
N £t 635 m2 3,778 m3
+11.8~No.127 8.20 m|No.127 — g+ 7.26 m 150 kN/m2 10.0m 10.0m 5.0m 5.0m 6.0m
127 ~ 129 40 m|No.127 —fERE T 7.26 m 150 kN/m2 10.0m 10.0m 5.0m 5.0m 447 m2 457 m2|  6.0m 5,424 m3
129 ~ 131 40 m|{No.129 —fgEkt 6.83 m 150 kN/m2 10.0m 10.0m 5.0m 5.0m 6.0m
#3JAavy 131 ~ 132 20 m|No.132 —fgEkt 5.28 m| No.131~133 [150 kN/m2| 100kg 6.0m 6.0m 5.0m 5.0m
Llees=1=
132 ~ 133 20 m{No.133 —fREt 500 m :,~4m° i 150 kN/m2 6.0m 6.0m 4.0m 4.0m 374 m2 366 m2 6.0m 4,440 m3
133 ~ 136 60 m|No.133 —fgEkt 5.00 m 100 kN/m2 6.0m 6.0m 3.0m 3.0m
136 ~ 139 60 m|No.138, No.139 | —fig%+ 453 m 100 kN/m2 6.0m 6.0m 3.0m 3.0m 181 m2 178 m2|  40m 1,436 m3
139 ~ 140 20 m 5.04 m 100 kN/m2 0.0m 0.0m 9.0m 10.0m 4.0m
No.140 BAGE 120kg 520 m2 2,080 m3
140 ~ +5 5m 5.04 m 100 kN/m2 0.0m 0.0m 10.0m 10.0m 4.0m
+117| 670 m —fiREEt 538 m 200 kN/m2| 120kg 7.0m 7.0m 3.0m 30m| HEMYARFDELICES 40m 0 m3
+117 ~ 4193 7.6 m[No.140+15.5 FEISEE 538 m| 111 kN/m2|200 kN/m2 BRES 121 m2 3.5m 283 m3
) 105kg 4.06~4. 26
BaJOvy THREEE 115 m2| "% 479 m3
N E 236 m2 762 m3
F47099 +19.3~No.141 0.70 m[No.141 — g%+ 5.38 m 200 kN/m2 7.0m 7.0m 3.0m 3.0m 40m
55 m2 55 m2 440 m3
141 ~ 142 20 m[No.141(No.142) | —figr%+ 598 m 200 kN/m2 7.0m 7.0m 3.0m 3.0m 4.0m
142 ~ 146 80 m|No.146 —fEREt 743 m 200 kN/m2 12.0m 15.0m 3.0m 3.0m 238 m2 242 m2| 50m 2,400 m3
120kg
146 ~ 147 20 m —fERE T 873 m 200 kN/m2 12.0m 12.0m 3.0m 3.0m 5.0m
No.147 437 m2 177 m2 3,070 m3
+5.0 5m — g%+ 8.73 m 200 kN/m2 12.0m 12.0m 3.0m 3.0m 5.0m
No.147 ~ No.148 26 m|No.148 Tuh—ERE 9.32 m| £ERED 900 kN/m2| 200kg 208 m2| 50m 1,040 m3
& F - 538 m EdEi PN —EhaRE - - - - 4,642 m2 - 17,860 m3
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[RffioRLAEHER REBER]

AR BT E V=17,860m3

ASY—Es FREESLET
AV RRUEAVRRBEIEMEFERALE-RR I OARMIOLBHABRERE) 1LY
WEB T EN500m3UL LEOTEDNIES

B 11,000m3IC1EIFEE (11RIATEE) LT 5,

17,860m3.~1,000m3=18#&{k
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F25KET (NO. 126+ 4. 236)
(NO. 5+17. 762 REH HIEHR)

it
&
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FIEHET

NO. 126+ 4. 236

(NO. 5+17. 762 REHHIBEHR) (1/2)
oA B AL R . M=
X K K 27 & F
BIERX 7 smunL B11.1xH6.0
EHHM m? 280 - 280 £=0. 200m
HLaroy—r  m 28 - 28 @, t=0.100m
B Lavy)-+E m? 1.0 - 1
avy)—+k m* 194.97 44.80 840 )
Ay )—rER 2 923.8 143.0 1,070
XTI Zm’ 1395. 2 20.9 1,420
B 5T #hm’ 282.0 423.0 710 Pt 215
B i # m’ 37.9 0 38 BIS Rk, t=20mn
I Kk BE m 26.4 0 26 I 4 W=200mm
c#® m 12.1 0 12 & W=300mm
aqA v biN— Ke 212 - 212 D29 x 1000, SD345
fHoR kAR Ke 144 - 144 D13x 12100, SD345
E-—4 7 m 21.0 - 21.0 ¢ 40 x 500
-~ ®x B m? 170.0 - 170.0  m#umAs Q0) HE TR, ¢ =5om
s LB m? 170.0 - 170.0  AsRFEMIE, t=8cm
NELE m’ 170.0 - 170.0  ®4®E (RC-40), t=5%m
® B m? 36.8 - 37 t=3cm
.- P& ] iz m? 36.8 - 37 t=10cm
aaE hETL
£=0. 59m m? 221 - 221
HEET
t=0. 59m m® 42 - 42
R b7 m* 1,042.0 - 1, 000
T
#HERE (0) m® 298.9 - 300
I
UE S 1B m* 743. 1 - 740
g BT m 406. 0 - 406. 0 Alli&ET £
EmEIEF m? 282. 4 - 280
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F2SMET

NO. 126+ 4. 236

(NO. 5+17. 762 BiErhH:EH# 2/2)
, % £
o Al B R . e

X & A4y &

" D13 Ke 7,428 1,071 8,499 8.50t

D16~D25 Ke 44, 240 1,409 45,649 45.65t

g | D29~D32 Ke 33,212 7,567 40,779 40. 78t

& &t Ke 84, 880 10, 047 94,927 94.93t
{81;%US9-B-B300-H600 m 21.0 - 21.0
{8;%US9-B-B300-H1000 m 21.0 - 21.0
£  300EEA ® 21 - 21
= J00RFEAR @& 21 - 21
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F25EHET (NO. 126+ 4. 236)
(NO. 5+17. 762 '23& " HEH#R)

x &
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EOEEET (NO. 126+ 4.236)  Afk- 1
H _H &t ! =® Bul ¥ B
HIFER
L= 21.020 + 0.106 + 0.106 = 21.232m
LR [B£E55994-57 (RC-40) t=0. 200
A= 13.300 x 21.232 = 282 386
A=| m?| 282.386
wLavey—r| [D. t=0.100]
A= 13.300 x 21.232 x 0.100 = 28.2
V= m 28.2
1 Lavpy-pE#e | [£=0. 100]
A= (21.232 + 14.154) x 2 x 0.100 = 7.077
A =| m? 7.1
BOXEE
L= 10.500 + 10.500 = 21.000 ™
avsy—r| (@)
EE| Vi= 13.100 x 1.100 x 21.000 = 302.610
BIBE| V2= 1.000 x 6.000 x 21.000 = 126.000
V3= 1.000 X 6.000 x 21.000 = 126.000
V4= 1/2 x 0.400 x 0.400 x 21.000 x 2 = 3. 360
TEER| V5= 13.100 x 0.800 x 21.000 = 220.080
V6= 1/2 x 13.100 x 0.131
x (21.000 - 0.639 - 0.639) =  16.922
avy)—raE= mP| 794.972
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EOEEET (NO. 126+ 4.236) A{k-2
IE H it g = Bl ¥ =
B
Bl A= 1.100 x 21.000 x 2 = 46.200
A2= 1.100 x 13.100 = 14.410
A3= 1.100 x 13.941 x 2 30. 670
= 91.280
B[ A= 6.000 x 21.000 x 2 = 252.000
A2= 5600 x 21.000 x 2 = 235.200
A3= 0.566 x 21.000 x 2 = 23.772
M= 1.000 x 6.000 x 2 = 12.000
A5= 1.064 x 6.000 x 2 x 2 = 25.536
A6=  1/2 x 0.400 x 0.400 x 2 = 0.160
Al=  1/2 x 0.400 x 0.426 x 2 2 = 0341
= 549.009
TEER| A= 0.800 x 21.000 x 2 33. 600
A2= 10.300 x 21.000 = 216. 300
A3= 0.800 x 13.100 = 10. 480
M= 0.800 x 13.941 x 2 = 22.306
A5=  1/2 x 13.100 x 0.131 = 0.858
= 283544
RrAEt=| m?| 923.833
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Z2SEET (NO. 126+ 4.236) Ak 3

H _H &t g = Bhl ¥ B
XRI
Vi= 11.100 x 6.000 x 21.000 = 1398. 600
V2= 1/2 x 0.400 x 0.400 x 21.000 x 2 = -3.360
TV = 1395. 240|Z=m?| 1395. 240
BiHT @SN )
A=( 17.847 + 17.847 )x 7.900 = 281.983|#m?| 281.983
B #h#t (#hERFAMAK. t=20mm]
al= 13.100 x 1.100 = 14.410
a2= 1.000 x 6.000 x 2 = 12.000
a3= 13.100 x 0.800 = 10.480
ad= 1/2 x 0.400 x 0.400 x 2 = 0.160
ab=  1/2 x 13.100 x 0.131 = 0.858
Sa= 37.908 (EAry)
A= 37.908 x 1 EF = 37.908| m?| 37.908
1E7K#R [B#!]
L= 26.366 x 1  @ff = 26.366| m | 26.366
[C#!]
L= 12.100 x 1  @ff = 12.100] m | 12.100
Sa4>ka—| [D29x1000) N= 42
W= 1.000 x 42 x 504 keg/m x 1 = 212| ke 212
#Wwiaskss | [D13x12100) N= 12
W= 12.100 x 12 x 0.995 kg/m x 1 = 144| kg 144
E=—ns54 7| [ ¢40x500] N= 42
L= 0.500 x 42 x 1 @A = 21.000] m | 21.000
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FE25FHET (NO. 126+ 4.236) ARIK- 4
IH H &t = Hi| 8 =
{1;& B B4 EeAlE (300 x 600 x 2000)
L= 21.020 = 21.020[f m 21
B B4 #EcalE (300 x 1000 x 2000)
L= 21.020 = 21.020[f m 21
= B AR AERIEZ300/A8 (1=500mm)
HEHMR = 21| 21
BREMR = 21| 21
%
HEHE =17nvsy + 27095
D13 = 3,714 + 3,714 = 7,428 | kg 7,428
D16 = 0 + 0 0
D19 = 8,959 + 8, 6959 = 17,918
D22 = 0 + 0 = 0
D25 = 13,161 4+ 13,161 = 26,322 | kg 44, 240
D29 = 16,606 + 16,606 = 33,212
D32 = 0 + 0 = 0| kg 33,212
S5t = 42,440 + 42,440 = 84,880 | kg 84, 880
HEHET
= B| [FHEAs(20)HE IR |, t=5cm)
A= 8.086 x 21.020 = 169.968| m? 170
LREREE| [AsTEMLIE | t=8cm]
A= 8.086 x 21.020 = 169.968| m? 170
TR [B4£RA (RC-40) |, t=59cm])
A= 8.086 x 21.020 = 169.968| m? 170
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EIEEET (NO. 126+ 4.236) A{A-5
H _H &t ] =® Bl ¥ 8
SEGET
= E| [ t=3cm)
A= 1.750 x 21.020 36.785| m%| 36.785
% #| [ t=10cm)]
A= 1.750 x 21.020 36.785| m?| 36.785
mEEM|  (EHE0. 54m)
A= 10.5 x 21.020 220. 710 m*® 221m
(E4/E0.59m)
A= 2.0  x 21.020 42.040| m® 42m
+ T
7 b1
V= Bl &L Y 1042.0| m®| 1042.0
i® &l [C)
V= Bl & Y 298.9| m*® 298.9
s
V= 1042.0 - 298.9 743. 1| m*® 743.1
it BT
bk g = ] ZE
A= 16.564 x 24 484 405. 553| ni 406
HEEIE
A= 13.300 x 21.232 282.386| m? | 282.386
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+ I iH Z
KR 2 R
p:l =t e EE C
T F1y He rT] iy He rT] iy =

NO. 5 + 4.09 0. 000 0.0
NO. 5 + 5233 1.138 40.0 20. 00 22.8
NO. 5 + 7.042 1. 809 40.0 40. 00 72.4
NO. 5 + 17.762 10. 720 40. 4 40. 20 430.9
NO. 6 + 8.062 10. 300 40.8 40. 60 418.2
NO. 6 + 9.871 1. 809 40.8 40. 80 73.8
NO. 6 + 11.043 1.172 0.0 20. 40 23.9
NO. 5 + 4.09 0. 000 0.0
NO. 5 + 5233 1.138 33.4 16. 70 19.0
NO. 5 + 7.042 1. 809 33.4 33. 40 60. 4
NO. 5 + 7.042 0. 000 6.6 20. 00 0.0
NO. 5 + 17.762 10. 720 6.6 6. 60 70. 8
NO. 6 + 8.062 10. 300 6.7 6. 65 68.5
NO. 6 + 8.062 0. 000 33.5 20. 10 0.0
NO. 6 + 9.871 1. 809 33.5 33.50 60. 6
NO. 6 + 11.043 1.172 0.0 16. 75 19.6

At 1042.0 298. 9
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K Y& A=40.0m
BEQC) A= 6.6m
(A=33.4m)

BE ¥E A=40.4m
tHE(C) A= 6.6m
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F25EHET (NO. 126+ 4. 236)
(NO. 5+17. 762 2 E HE$R)

YA Y
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$ISWET (N0. 126+ 4.236) FEE- 1
H_H &t ! =® Bil ¥ B
avyy—+| (@]
48| (i)
A= 1/2 x( 1.000 + 5.000 )x 2.000 = 6. 000
Al= 1/2 x( 0.300 + 0.314 ) x 13.941 = 4.280
A2= 7.014 x 2.000 = 14.028
A= 1/2 x( 7.014 + 1.000 )x 3.000 = 12.021
30. 329 m?
(%)
A= 1/2 x( 1.000 + 4.531 )x 1.766 = 4.884
A= 1/2 x( 0.298 + 0.312 ) x 13.941 = 4252
A2= 7.014 x 2469 = 17.318
A3= 1/2 x( 7.014 + 1.000 )x 3.000 = 12.021
= 33.591 m?
Vi= 1/2 x( 6.000 + 4.884 )x 0.300 = 1.633
V2= 1/2 x( 30.329 + 33.591 ) x 0.600 = 19.176
V3= 1/2 x 0.381 x 0.300 x 3.770 = 0.215
V4= 1/2 x 0.761 x 0.600 x 6.702 = 1.530
E@&E= 22.554
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BOSFEET (NO. 126+ 4.236) ZRE- )
H_H &t ! =® Bl H 8
A GhmE)
A= 1/2 x( 1.000 + 4.600 )x 1.800 = 5040
M= 1/2 x( 0.314 + 0.300 )x 13.941 = 4280
A2= 7.000 x 2.000 = 14.000
A3= 1/2 x( 7.000 4+ 1.000 )x 3.000 = 12.000
= 30.280 m?
i)
A= 1/2 x( 1.000 + 4.131 )x 1.566 = 4018
A= 1/2 x( 0.316 + 0.302 )x 13.941 4.308
A2= 7.000 x 2.469 = 17.283
A3= 1/2 x( 7.000 4+ 1.000 )x 3.000 = 12.000
= 33.501 m?
Vi=  1/2 x( 5.040 + 4.018 )x 0.300 = 1.359
V2= 1/2 x( 30.280 + 33.591 ) x 0.600 = 19.161
V3= 1/2 x 0.381 x 0.300 x 3. 370 0.193
V4= 1/2 x 0.761 x 0.600 x 6.698 = 1.529
HREEH= 22242
avyy—raE=| m®| 44.796

P62




E2SERT (NO.126+ 4.236) 3E:-3
= &t ] 2N Bl &
B
EfI| Al= 6.000 + 30.329 + 4884 + 3351 = 74.804
A2= 1/2 x( 0.300 + 0.298 )x 0.639 = 0.191
A3= 1.000 x 0.300 = 0.300
M= 1/2 x( 4.472 + 3.948 )x 0.300 = 1.263
AS= 1.000 x 0.600 = 0.600
A6= 6.721 x  0.600 = 4.033
7= 1/2 x( 2000 + 2.469 )x 0.600 = 1.341
A8= 0.334 x 3.710 = 1.259
-A9= 0.381 x 3.770 x 2 = -2.873
-A10= 1/2 x ( 5.000 4.531 ) x 0.381 = -1.816
AT1= 1.369 x  6.702 = 9175
-A12= 0.761 x 6.702 x 2 = -10.200
-A13= 1/2 x( 6.700 + 6.702 )x 0.761 = -5.099
Al4= 1/2 x 0.381 x 0.300 = 0.097
5= 1/2 x  0.761 x  0.600 = 0228
-A16= 1/2 x 13.941 x 0.131 = -0.913
Efl&st= 72350
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ZOEEET (NO. 126+ 4.236) FEE- 4
H H &t g =® Hig % =
BB
AE| A= 5040 + 30.280 + 4.018 + 33.591 = 72.929
A= 1/2 x( 0.314 + 0.316 )x 0.639 = 0.201
A3= 1.000 x 0.300 = 0.300
M= 1/2 x( 4.025 + 3.501 )x 0.300 = 1.129
A5= 1.000 x  0.600 = 0.600
A6= 6.708 x  0.600 = 4025
A= 1/2 x( 2.000 + 2.469 )x 0.600 = 1.341
A8= 0.334 x 3.370 = 1.126
-A9= 0.381 x 3.370 x 2 = -2.568
-A10= 1/2 x ( 4.600 4.131 )x 0.381 = -1.663
Al1= 1.369 x 6.698 = 9.170
~A12= 0.761 x 6.698 X 2 = -10.194
-A13= 1/2 x( 6.700 + 6.698 ) x 0.761 = -5.098
AMd=  1/2 x 0.381 x 0.300 = 0.057
Al5=  1/2 x 0.761 x 0.600 = 0.228
-A16=  1/2 x 13.941 x 0.131 = -0.913
HEEE= 70.670
BIp &= m? | 143.020
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E2E5EHET (NO. 126+ 4.236) ZEEE-5
IE H &t g = Hi % =
*HRT
pX ]
(Zam@E) | M= 1/2 4.000 2.000 + 0.423 x 2.000 = 4.846
(FEm@E) | A= 1/2 6.014 x 3.000 + 1.200 x 5.000 = 15.021
(E&F@)| A= 1/2 3. 531 1.766 + 0.891 x 1.766 = 4691
(BEEmE)| M= 1/2 6.014 x 3.000 + 1.198 x 5. 469 = 15.573
Vi=  1/2 x (4.846 + 4.691) x 0.300 = 1.431
V2= 1/2 x (15.021 4+ 15.573) x 0.600 = 9.178
EfI&s =  10.609
A1
(ZZgm@)| M= 1/2 x 3.600 x 1.800 + 0.394 x 1.800 = 3.949
(FEEE)| A2= 1/2 x 6.000 x 3.000 + 1.200 x 5.000 = 15.000
(Z&m)| A= 1/2 x 3131 x 1.566 + 0.864 x 1.566 = 3.805
(EEm)| M= 1/2 x 6.000 x 3.000 + 1.202 x 5. 469 = 15.574
Vi=  1/2 x  (3.949 + 3.805 x 0.300 = 1.163
V2= 1/2 x (15.000 + 15.574) x 0.600 = 9.172
ABEI&ET = 10.335
FTRIEGE=|Zm®| 20.944
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E2E5EHET (NO. 126+ 4.236) ZEEE-6
IE H &t g = Hi % =
BizT [ 2 15)
Al Al= 20.941 x  8.207 = 171.863
A2= 4.932 x 8.212 = 40.502
ERIAE = 212.365
H|]l Al= 20.741 x  8.207 = 170. 221
A2= 4.932 x 8.202 = 40.452
HEIEE = 210.673
RiGEEH=|#m? 423.038
%
HEE = £9425 + BEY4LY
D13 = 553 + 518 = 1,071 | kg 1,071
DI6 = 0 + 0 = 0
D19 = 705 + 704 = 1,409
D22 = 0 + 0 = 0
D25 0 + 0 0| kg 1, 409
D29 = 3,784 + 3,783 = 7,567
D32 0 + 0 0| kg 7,567
= = 5,042 + 5005 10,047 | kg | 10, 047
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